[lepemecTunTenbHbLIN 3aKOH

@+ 8=868Ta,
Hanpumep:
0,9+1,2=1,2+0,5




Couerare/ibHBIN 3AKOH
sat+(8+Cc)=(at+g)tcC

« Hanmpumep:
. 3,5+((-2,5) + 4,6)
=(3,5-2,5)+4,6=1+4,6=5,6



[lpyMeHeHne coveTaTesibHOro U
nepemMecTuTenbHOro CBOUCTBA

3,5 +(-2,7) + 4,6 + (-5,8) =
=(3,5 +4,6) + (-2,7 + (-5,8))
= 8,1 + (-8,5) = -0,4.

34eCb Mbl CHa4yanla OTAENbHO CIOXUIN

NOJ1IOXKUTEJIbHbIE Cllalrd€EMbIE U OTPpULATESIbHbIE
CJ/idala€EMbIE.



* [ I[pmOaBAeHTE HYAA HE N3MEHAET
YICAQ, 2 CYMMA
IIPOTUBOITOAOKHBIX YHCEA PABHA
HYAFO:

ca+ O =g

- a+ (-a) = O.

[ [pumep. 2,9 + 37 + (-4,2) + (-2,9)

+ 42 =29+ (-2,9) + 3,77 + (-4,2

+ 4,2) = =0+3,7+0=3,7.
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